# A STUDY ABOUT CERTAIN SUBCLASSES OF ANALYTIC FUNCTIONS 

Maslina Darus ${ }^{1}$, Imran Faisal


#### Abstract

In the present paper, we establish some results concerning the quasi-Hadamard product for certain subclasses of analytic functions.


## 1. Introduction and preliminaries

The study of certain classes of analytic functions has been essential to many researchers especially to complex analysts. Then the class of univalent functions which is a subclass of analytic functions has been the prime interest to many for several decades. Though the famous Bieberbach conjecture is settled, yet many other new results are studied and solved in many ways (cf., [3, 4, 12]). In this article we study quasi-Hadamard product of finitely many functions for the two classes denoted by $S_{P}(\lambda, \alpha, \beta)$ and $U C V(\lambda, \alpha, \beta)$.

Received: 27.03.2011. Revised: 4.01.2012.
(2010) Mathematics Subject Classification: 30C45.

Key words and phrases: analytic, starlike, convex, quasi-Hadamard product.
${ }^{1}$ Corresponding author: maslina@ukm.my.

Throughout this paper let

$$
\begin{equation*}
f(z)=a_{1} z+\sum_{k=2}^{\infty} a_{k} z^{k}, \quad\left(a_{1}>0, a_{k} \geq 0\right) \tag{1}
\end{equation*}
$$

$$
\begin{align*}
& f_{i}(z)=a_{1, i} z+\sum_{k=2}^{\infty} a_{k, i} z^{k}, \quad\left(a_{1, i}>0, a_{k, i} \geq 0\right)  \tag{2}\\
& g(z)=b_{1} z+\sum_{k=2}^{\infty} b_{k} z^{k}, \quad\left(b_{1}>0, b_{k} \geq 0\right)  \tag{3}\\
& g_{j}(z)=b_{1, j} z+\sum_{k=2}^{\infty} b_{k, j} z^{k}, \quad\left(b_{1, i}>0, b_{k, j} \geq 0\right) \tag{4}
\end{align*}
$$

be regular and univalent in the unit disc $\mathbb{U}=\{z:|z|<1\}$.
For $0 \leq \lambda<1,0 \leq \alpha<1$ and $\beta \geq 0$, let $S_{P}(\lambda, \alpha, \beta)$ denote the class of functions $f(z)$ defined by (1)(considering $a_{1}=1$ ) and satisfying the analytic criterion
(5) $\Re\left\{\frac{z f^{\prime}(z)}{(1-\lambda) f(z)+\lambda z f^{\prime}(z)}-\alpha\right\}>\beta\left|\frac{z f^{\prime}(z)}{(1-\lambda) f(z)+\lambda z f^{\prime}(z)}-1\right|, \quad z \in \mathbb{U}$.

Also let $U C V(\lambda, \alpha, \beta)$ denote the class of functions $f(z)$ defined by (1) (considering $a_{1}=1$ ) and satisfying the analytic criterion

$$
\begin{equation*}
\Re\left\{\frac{f^{\prime}(z)+z f^{\prime \prime}(z)}{f^{\prime}(z)+\lambda z f^{\prime \prime}(z)}-\alpha\right\}>\beta\left|\frac{f^{\prime}(z)+z f^{\prime \prime}(z)}{f^{\prime}(z)+\lambda z f^{\prime \prime}(z)}-1\right|, \quad z \in \mathbb{U} \tag{6}
\end{equation*}
$$

Suitably specializing the parameters of the classes above we generalize the classes defined by some well known authors, see $[1,2,13-15]$.

Murugusundaramoorthy and Magesh [10] proved the following results that $f(z) \in S_{P}(\lambda, \alpha, \beta)(0 \leq \lambda<1,0 \leq \alpha<1, \beta \geq 0)$ if and only if

$$
\begin{equation*}
\sum_{n=2}^{\infty}[n(1+\beta)-(\alpha+\beta)(1+n \lambda-\lambda)]\left|a_{n}\right| \leq(1-\alpha) \tag{7}
\end{equation*}
$$

and $f(z) \in U C V(\lambda, \alpha, \beta)(0 \leq \lambda<1,0 \leq \alpha<1, \beta \geq 0)$ if and only if

$$
\begin{equation*}
\sum_{n=2}^{\infty} n[n(1+\beta)-(\alpha+\beta)(1+n \lambda-\lambda)]\left|a_{n}\right| \leq(1-\alpha) \tag{8}
\end{equation*}
$$

We now introduce the following class of analytic functions which plays an important role in the discussion that follows.

A function $f$ which is analytic in $U$ belongs to the class $S_{k}(\lambda, \alpha, \beta)$ if and only if

$$
\begin{equation*}
\sum_{n=2}^{\infty} n^{k}[n(1+\beta)-(\alpha+\beta)(1+n \lambda-\lambda)]\left|a_{n}\right| \leq(1-\alpha), \tag{9}
\end{equation*}
$$

where $n(1+\beta)-(\alpha+\beta)(1+n \lambda-\lambda)>0,0 \leq \lambda<1,0 \leq \alpha<1, \beta \geq 0$ and $k$ is any fixed nonnegative real number.

For $k=0$ and $k=1$, it is identical to $S_{P}(\lambda, \alpha, \beta)$ and $\operatorname{UCV}(\lambda, \alpha, \beta)$ respectively (see [10]). Further, for any positive integer $h>k+1>k>\cdots>$ $p$, we get the following inclusion relation
$S_{h}(\lambda, \alpha, \beta) \subseteq S_{k+1}(\lambda, \alpha, \beta) \subseteq \cdots \subseteq S_{2}(\lambda, \alpha, \beta) \subseteq U C V(\lambda, \alpha, \beta) \subseteq S_{P}(\lambda, \alpha, \beta)$.
The class $S_{k}(\lambda, \alpha, \beta)$ is nonempty for any nonnegative real number $k$ as the functions of the form

$$
\begin{equation*}
f(z)=a_{1} z+\sum_{k=2}^{\infty} \frac{(1-\alpha)}{n^{k}[n(1+\beta)-(\alpha+\beta)(1+n \lambda-\lambda)]} \lambda_{k} z^{k}, \tag{10}
\end{equation*}
$$

where $a_{1}>0, \lambda_{k} \geq 0$ and $\Sigma_{2}^{\infty} \lambda_{k} \leq 1$ satisfy the inequality given in (9).
Let us define the quasi-Hadamard product of the functions $f$ and $g$ by

$$
\begin{equation*}
f * g(z)=a_{1} b_{1} z+\sum_{k=2}^{\infty} a_{k} b_{k} z^{k}, \quad\left(a_{1}>0, b_{1}>0, a_{k} \geq 0\right) \tag{11}
\end{equation*}
$$

Similarly, we can define the quasi-Hadamard product of more than two functions. The quasi-Hadamard product of two or more functions has recently been defined and used by some well known authors see [5-9, 11]. In this work we establish certain results concerning the quasi-Hadamard product of functions in the classes $S_{P}(\lambda, \alpha, \beta), U C V(\lambda, \alpha, \beta)$ and $S_{k}(\lambda, \alpha, \beta)$ analogous to the results due to $V$. Kumar [5] and [7] as well.

## 2. The main results

Theorem 2.1. Let the functions $f_{i}(z)$ defined by (2) be in $\operatorname{UCV}(\lambda, \alpha, \beta)$ for every $i=1,2, \ldots, r$ and let the functions $g_{j}(z)$ defined by (4) be in the class $S_{P}(\lambda, \alpha, \beta)$ for every $j=1,2, \ldots, q$. Then the quasi-Hadamard product $f_{1} * f_{2} * \cdots * f_{r} * g_{1} * g_{2} * \cdots * g_{q}(z)$ belongs to the class $S_{2 r+q-1}(\lambda, \alpha, \beta)$.

Proof. We denote the quasi-Hadamard product $f_{1} * f_{2} * \cdots * f_{r} * g_{1} *$ $g_{2} * \cdots * g_{q}(z)$ by the function $G(z)$, for the sake of convenience. Clearly,

$$
G(z)=\left[\prod_{i=1}^{r}\left|a_{1, i}\right|\right]\left[\prod_{j=1}^{q}\left|b_{1, j}\right|\right] z+\sum_{n=2}^{\infty}\left[\prod_{i=1}^{r}\left|a_{n, i}\right|\right]\left[\prod_{j=1}^{q}\left|b_{n, j}\right|\right] z .
$$

Since $f_{i}(z) \in U C V(\lambda, \alpha, \beta)$, it implies

$$
\begin{equation*}
\sum_{n=2}^{\infty} n[n(1+\beta)-(\alpha+\beta)(1+n \lambda-\lambda)]\left|a_{n, i}\right| \leq(1-\alpha)\left|a_{1, i}\right| \tag{12}
\end{equation*}
$$

for every $i=1,2, \ldots, r$. Therefore

$$
\left|a_{n, i}\right| \leq \frac{(1-\alpha)}{n[n(1+\beta)-(\alpha+\beta)(1+n \lambda-\lambda)]}\left|a_{1, i}\right|,
$$

for every $i=1,2, \ldots, r$, which implies

$$
\begin{equation*}
\left|a_{n, i}\right| \leq n^{-2}\left|a_{1, i}\right|, \tag{13}
\end{equation*}
$$

for every $i=1,2, \ldots r$. Similarly $g_{j}(z) \in S_{p}(\lambda, \alpha, \beta)$, it implies

$$
\begin{equation*}
\sum_{n=2}^{\infty}[n(1+\beta)-(\alpha+\beta)(1+n \lambda-\lambda)]\left|b_{n, j}\right| \leq(1-\alpha)\left|b_{1, j}\right|, \tag{14}
\end{equation*}
$$

for every $i=1,2, \ldots, q$. It implies

$$
\begin{equation*}
\left|b_{n, j}\right| \leq n^{-1}\left|b_{1, j}\right|, \tag{15}
\end{equation*}
$$

for every $j=1,2, \ldots q$.
Using (13), (14) and (15) for $i=1,2, \ldots, r, j=q$ and $j=1,2, \ldots, q-1$ respectively, we have

$$
\begin{aligned}
& \sum_{n=2}^{\infty} n^{2 r+q-1}[n(1+\beta)-(\alpha+\beta)(1+n \lambda-\lambda)] \prod_{i=1}^{r}\left|a_{n, i}\right| \prod_{j=1}^{q}\left|b_{n, j}\right| \\
& \leq \sum_{n=2}^{\infty} n^{2 r+q-1}[n(1+\beta)-(\alpha+\beta)(1+n \lambda-\lambda)] n^{-2 r} n^{-q+1}\left|b_{n, q}\right| \prod_{i=1}^{r}\left|a_{1, i}\right| \prod_{j=1}^{q-1}\left|b_{1, j}\right|
\end{aligned}
$$

$$
\begin{aligned}
=\sum_{n=2}^{\infty}[n(1+\beta)-(\alpha+\beta)(1+n \lambda-\lambda)]\left|b_{n, q}\right| & \prod_{i=1}^{r}\left|a_{1, i}\right| \prod_{j=1}^{q-1}\left|b_{1, j}\right| \\
& \leq(1-\alpha) \prod_{i=1}^{r}\left|a_{1, i}\right| \prod_{j=1}^{q}\left|b_{1, j}\right|
\end{aligned}
$$

Therefore we have

$$
\begin{aligned}
\sum_{n=2}^{\infty} n^{2 r+q-1}[n(1+\beta)-(\alpha+\beta)(1+n \lambda-\lambda)] & \prod_{i=1}^{r}\left|a_{n, i}\right| \prod_{j=1}^{q}\left|b_{n, j}\right| \\
& \leq(1-\alpha) \prod_{i=1}^{r}\left|a_{1, i}\right| \prod_{j=1}^{q}\left|b_{1, j}\right|
\end{aligned}
$$

Hence $f_{1} * f_{2} * \cdots * f_{r} * g_{1} * g_{2} * \cdots * g_{q}(z) \in S_{2 r+q-1}(\lambda, \alpha, \beta)$.
Theorem 2.2. Let the functions $f_{i}(z)$ defined by (2) be in $U C V(\lambda, \alpha, \beta)$ for every $i=1,2, \ldots, r$. Then the Hadamard product $f_{1}(z) * f_{2}(z) * \cdots * f_{r}(z)$ belongs to the class $S_{2 r-1}(\lambda, \alpha, \beta)$.

Proof. To prove the theorem, we need to show that

$$
\sum_{n=2}^{\infty} n^{2 r-1}[n(1+\beta)-(\alpha+\beta)(1+n \lambda-\lambda)] \prod_{i=1}^{r}\left|a_{n, i}\right| \leq(1-\alpha) \prod_{i=1}^{r}\left|a_{1, i}\right|
$$

Since $f_{i}(z) \in U C V(\lambda, \alpha, \beta)$, therefore

$$
\begin{equation*}
\sum_{n=2}^{\infty} n[n(1+\beta)-(\alpha+\beta)(1+n \lambda-\lambda)]\left|a_{n, i}\right| \leq(1-\alpha)\left|a_{1, i}\right| \tag{16}
\end{equation*}
$$

for every $i=1,2, \ldots r$. It implies

$$
\left|a_{n, i}\right| \leq \frac{(1-\alpha)}{n[n(1+\beta)-(\alpha+\beta)(1+n \lambda-\lambda)]}\left|a_{1, i}\right|
$$

for every $i=1,2, \ldots, r$, which implies

$$
\begin{equation*}
\left|a_{n, i}\right| \leq n^{-2}\left|a_{1, i}\right| \tag{17}
\end{equation*}
$$

for every $i=1,2, \ldots, r$.

Applying simultaneously (16) as well as (17) for $i=r$ and $i=1,2, \ldots, r-1$ respectively, we get

$$
\begin{aligned}
& \sum_{n=2}^{\infty} n^{2 r-1}[n(1+\beta)-(\alpha+\beta)(1+n \lambda-\lambda)] \prod_{i=1}^{r}\left|a_{n, i}\right| \\
& \leq \sum_{n=2}^{\infty} n^{2 r-1}[n(1+\beta)-(\alpha+\beta)(1+n \lambda-\lambda)]\left|a_{n, r}\right| n^{-2 r+2} \prod_{i=1}^{r-1}\left|a_{1, i}\right| \\
& =\sum_{n=2}^{\infty} n[n(1+\beta)-(\alpha+\beta)(1+n \lambda-\lambda)]\left|a_{n, r}\right| \prod_{i=1}^{r-1}\left|a_{1, i}\right|=(1-\alpha) \prod_{i=1}^{r}\left|a_{1, i}\right|
\end{aligned}
$$

Hence $f_{1}(z) * f_{2}(z) * \cdots * f_{r}(z) \in S_{2 r-1}(\lambda, \alpha, \beta)$.
ThEOREM 2.3. Let the functions $f_{i}(z)$ defined by (2) be in the class $S_{P}(\lambda, \alpha, \beta)$ for every $i=1,2, \ldots, r$. Then the Hadamard product $f_{1}(z) * f_{2}(z) * \cdots * f_{r}(z)$ belongs to the class $S_{r-1}(\lambda, \alpha, \beta) \cdot$.

Proof. Since $f_{i}(z) \in S_{p}(\lambda, \alpha, \beta)$, it implies

$$
\begin{equation*}
\sum_{n=2}^{\infty}[n(1+\beta)-(\alpha+\beta)(1+n \lambda-\lambda)]\left|a_{n, i}\right| \leq(1-\alpha)\left|a_{1, i}\right| \tag{18}
\end{equation*}
$$

for every $i=1,2, \ldots, r$. Therefore

$$
[n(1+\beta)-(\alpha+\beta)(1+n \lambda-\lambda)]\left|a_{n, i}\right| \leq(1-\alpha)\left|a_{1, i}\right|
$$

or

$$
\left|a_{n, i}\right| \leq \frac{(1-\alpha)}{n(1+\beta)-(\alpha+\beta)(1+n \lambda-\lambda)}\left|a_{1, i}\right|
$$

for every $i=1,2, \ldots, r$, which implies

$$
\begin{equation*}
\left|a_{n, i}\right| \leq n^{-1}\left|a_{1, i}\right| \tag{19}
\end{equation*}
$$

for every $i=1,2, \ldots, r$.
To prove that $f_{1}(z) * f_{2}(z) * \cdots * f_{r}(z) \in S_{r-1}(\lambda, \alpha, \beta)$, it is enough to show that
(20) $\sum_{n=2}^{\infty} n^{r-1}[n(1+\beta)-(\alpha+\beta)(1+n \lambda-\lambda)] \prod_{i=1}^{r}\left|a_{n, i}\right| \leq(1-\alpha) \prod_{i=1}^{r}\left|a_{1, i}\right|$.

Using (18) and (19) for $i=r$ and $i=1,2, \ldots, r-1$ respectively, then we have

$$
\begin{aligned}
& \sum_{n=2}^{\infty} n^{r-1}[n(1+\beta)-(\alpha+\beta)(1+n \lambda-\lambda)] \prod_{i=1}^{r}\left|a_{n, i}\right| \\
& \leq \sum_{n=2}^{\infty} n^{r-1}[n(1+\beta)-(\alpha+\beta)(1+n \lambda-\lambda)]\left|a_{n, r}\right| n^{-r+1} \prod_{i=1}^{r-1}\left|a_{1, i}\right| \\
& =\sum_{n=2}^{\infty}[n(1+\beta)-(\alpha+\beta)(1+n \lambda-\lambda)]\left|a_{n, r}\right| \prod_{i=1}^{r-1}\left|a_{1, i}\right|
\end{aligned}
$$

Using (18) we get

$$
\sum_{n=2}^{\infty}[n(1+\beta)-(\alpha+\beta)(1+n \lambda-\lambda)]\left|a_{n, r}\right| \prod_{i=1}^{r-1}\left|a_{1, i}\right|=(1-\alpha) \prod_{i=1}^{r}\left|a_{1, i}\right|
$$

Hence $f_{1}(z) * f_{2}(z) * \cdots * f_{r}(z) \in S_{r-1}(\lambda, \alpha, \beta)$.
Acknowledgements. The work presented here was fully supported by UKM-ST-06-FRGS0244-2010.

## References

[1] Altintas O., Owa S., On subclasses of univalent functions with negative coefficients, Pusan Kyongnam Math. J. 4 (1998), 41-56.
[2] Bharati R., Parvatham R., Swaminathan A., On subclasses of uniformly convex functions and corresponding class of starlike functions, Tamkang J. Math. 26 (1997), no. 1, 17-32.
[3] Goodman A.W., On uniformly convex functions, Ann. Polon. Math. 56 (1991), 87-92.
[4] Kanas S., Wisniowska A., Conic regions and $k$-uniform convexity, J. Compt. Appl. Math. 105 (1999), 327-336.
[5] Kumar V., Hadamard product of certain starlike functions, J. Math. Anal. Appl. 110 (1985), 425-428.
[6] Kumar V., Hadamard product of certain starlike functions II, J. Math. Anal. Appl. 113 (1986), 230-234.
[7] Kumar V., Quasi-Hadamard product of certain univalent function, J. Math. Anal. Appl. 126 (1987), 70-77.
[8] Mogra M.L., Hadamard product of certain meromorphic univalent functions, J. Math. Anal. Appl. 157 (1991), 10-16.
[9] Mogra M.L., Hadamard product of certain meromorphic starlike and convex functions, Tamkang J. Math. 25 (1994), no. 2, 157-162.
[10] Murugusundaramoorthya G., Mageshb N., On certain subclasses of analytic functions associated with hypergeometric functions, App. Math. Lett. 24 (2011), 494-500.
[11] Owa S., On the Hadamard product of univalent functions, Tamkang J. Math. 14 (1983), 15-21.
[12] Ronning F., Uniformly convex functions and a corresponding class of starlike functions, Proc. Amer. Math. Soc. 118 (1993), 189-196.
[13] Silverman H., Univalent functions with negative coefficients, Proc. Amer. Math. Soc. 51 (1975), 109-116.
[14] Subramanian K. G., Murugusundaramoorthy G., Balasubrahmanyam P., Silverman H., Subclasses of uniformly convex and uniformly starlike functions, Math. Japonica 42 (1995), no. 3, 517-522.
[15] Subramanian K.G., Sudharsan T.V., Balasubrahmanyam P., Silverman H., Classes of uniformly starlike functions, Publ. Math. Debrecen. 53 (1998), no. 3-4, 309-315.

School of Mathematical Sciences
Faculty of Science and Technology
Universiti Kebangsaan Malaysia
Bangi 43600 Selangor D. Ehsan
Malaysia
e-mail: maslina@ukm.my
e-mail: faisalmath@gmail.com

